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Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 1455899539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine
Chocolate is made from processed cocoa

It gets stuck in their intestines

3. %
gcollegedunias



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 1455899540 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces
Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 1455899541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good

1. % gcollegedunias



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 1455899542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct statement about the passage
Options :

Chocolate has ill effects
Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 1455899543 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimgnsiiruc ion
collegedunia:

's largest Student Review Platform



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste
2. ¥

simple
3. %

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 1455899544 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :

1 It is raining. aren’t it

, He said that he is ruined

You must work hard for success
3. %

:
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It is smelling goodly

Question Number : 7 Question Id : 1455899545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 1455899546 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. % Qcollegedunias



d1l. 4

the. an

the. a

Question Number : 9 Question Id : 1455899547 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the

:
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Question Number : 10 Question Id : 1455899548 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at
1o
with

upon

Question Number : 11 Question Id : 1455899549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.

Options :

of
1.¢ Qcollegedunias



towards

5]

for

about

Question Number : 12 Question Id : 1455899550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm

:
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Question Number : 13 Question Id : 1455899551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’Ed
3.

came, see, conquer
4.

Question Number : 14 Question Id : 1455899552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunias



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 1455899553 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy

3. gcollegedunias



to pacify
v

to refuse

Question Number : 16 Question Id : 1455899554 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress
1. %

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 1455899555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify

Qcollegedunias



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 1455899556 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

vicious
capacious

:
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Question Number : 19 Question Id : 1455899557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 1455899558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other

Qcollegedunias



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 1455899559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 1455899560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunias



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 1455899561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.¢

Their wonder restrained a strange happening

3. % gcollegedunias



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 1455899562 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon
He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 1455899563 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

:
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Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589317

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 1455899564 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0 Qcollegedunias



The leadership in family planning — EXCELL awards 2022 in the country
category was received by :

DuBES S b of IS wG) -2022 S0 Deriiod® ReviHHH)B.

Options :

China

DI°

India

08d5e

Singapore

2036
3. %

Thailand

(ajleselailotay
4, %

Question Number : 27 Question Id : 1455899565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The Indian Film personality of the year 2022 award at the 53% International film

festival of India (IFFI) was presented to :

535 88 wosmhah Sof AFGTe 6 woldhS $6) ST ¢F &

20D0 2022 e & (Sob P68 Hootlod.

Options :

1, gcollegedunias



Rajinikanth

Bezdzoos
.
Late Puneeth Rajkumar
8a3Hen HIS oofSsrs
2. %
Konidela Chiranjeevi
H30 DBoLd)
3.¢
Amir Khan
o6 S
4. %

Question Number : 28 Question Id : 1455899566 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
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In India, eleven states account for 90 percent of the total number of operational
mines. Which of the following states are part of them?

8R40 st f}&)ﬁ@é&_ ando e éoqgéﬁ 90 =50 11 Eﬂt%aéﬁ SR,

wok$® £ Tpe:

A, Andhra Pradesh

SolBHES

Bihar
555

Chattisgarh
S850E
Guyjarat

Kooea

Uttarakhand
sdoepod

Select the correct answer :

Options:

A.C & D only

- A C &D &8

3.

®

B & E only
B & E &85

C.D & E only
C.D&E &8

:
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A.B & C only

A B & C $r80
4. %

Question Number : 29 Question Id : 1455899567 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following 1s ncorrect with regard to the National Green

Hydrogen Mission?

2805 (A8 PE=S 2ES % Somobod Spm skmdS Ty,

Options :

It was approved by the Union Cabinet in April 2023.

.y 2023 2(DcHS &° 42D So|d BDIS ©ZrboDod.

It makes India a leading producer of green hydrogen in the world.

& o8 88840 (530808’ (A8 TE=S 48)86° (Hknp P8 $erd0d
2. %

It reduces dependence on imported fossil fuels.

AHod Ber nodd B wprddido éi‘igéﬁac&

3. %

It attracts mvestment opportunities for the industry.

38 JBED B Dipgad vizre O W58 08,
4. %
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
“Yaanam'’ is a science documentary of about 44 minutes. Which of the following

are correct about it?

28r% 44 Ao AdAte QEJ wépobd ‘dirlo’ ol JB@
a°5°5@5: ool

A, Yaanam 1s a first science non-feature film in Sanskrit.

o S0 8o & abnds JobAtd 2 FSh3s 29)

B. Itrecounts the story of India’s Chandrayan.

30 08afe YoBaeS ¥5% 30ahBgo.

C. It was screened at the 53" edition of the International Film Festival of
India (IFFT)
&I 53 § o A &0 (s0balr) IFFIE (HEg0ms.

Select the correct answere ;
Options :
A & B only
A & B Sr@D

1. %

A & C only

A & CEmED
2.

C only

C S8
3. %

:
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B & C only

, , B&CErES

Question Number : 31 Question Id : 1455899569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The total length of national highways (NH) in India , as on 30® November, 2022,
approximately, was : (in lakh kms)

30 $onb 2022 T88 EERIE IS TR0 Indo LY DI

(o8 8,306
Options :

1.45
1.+

Question Number : 32 Question Id : 1455899570 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Qcollegedunias
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March 2023, who among the following was elected as the Chief Mimister of
Tripura?
9), 2023 & (308 FOE (BHY dogiool® M ARYSawS T A5?

Options:

Manik Saha
SR8 oS

1.+

Manik Sarkar
S8 50@5

2. #

Biplab Kumar Deb

DHS H&ErE 85
3. %

Dasarath Deb
. BI88 b

4.

Question Number : 33 Question Id : 1455899571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In World women’s Boxing Championship 2023 who won the gold medal in

50 kg category.

2023 (0% &) 8ol oS &5 6° 50 3o SLASE womd) H8¥

D5

Options:

:
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Lovlina Borgohain

QT B PS

1. %

Nikhat Zareen
Q& 285

2. %

Saweety Boora

; i:gﬁ 58

Nitu Ghangas

Hbh Korrd
4. %

Question Number : 34 Question Id : 1455899572 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is wrongly paired regarding Nobel Prizes 2022.

SPond adons - 2022 % Honodod Spre awbd 28 fhgodod.
Options :

Physics — John . F. Clauser

F8E R0 - 2PI.29.5°R0

1. %

Chemistry — Alain Aspect

S Pahs FPo - @83 IS
"";\.;/
2 gcqllegedunias



Peace — Ales Bialiatski
FTOH - ©BH mdﬁ:aéﬁﬁ:&

3. %
Economics — Philip. H. Dybvig
i o =
i @88 TRo - HI3. o, &80

Question Number : 35 Question Id : 1455899573 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the mcorrect pair regarding the Union Budget — 2023 from the following.

8B PG RS 252023 H Somofod 98 T a8 Jod¥

Sk,

Options :
Gobardhan - Waste to wealth plants

1 RP28688 - a’)éng@ D008 HodS
.

Amrit Dharohar — Optimal use of wet lands

oS $5°rE - Hred Jve B IHr SIBrADHS HE0

2. %
Unity mall — Centre for national integration
|, SRb &S - wpbab SREEe Sogo
3. il
4,

:
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Saptarishi — Seven priorities of the Budget.

S5GR - 2ZEE° D (@I

%

Question Number : 36 Question Id : 1455899574 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Whose writings influenced Karl Marx's dialectical metefrialism.

D56 88w w§ &rb) @w¥) AeEe)E F88 T (Berado Barow.
Options :

Ricardo

y=ito)
el

Hegel

Angels

D0OBSy
3. %

Lenin

SR
4. %

Question Number : 37 Question Id : 1455899575 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
% collegedunias
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Time:0
Identify the writer who won the Sahitya Akademi Award for Telugu Novel

‘Manodharma Paragam’ in 2022,

DY) Sotie’ o3 Benih Ko & 2022 6° SoEFIE wED BT

ol Sandd HhBosob.
Options :

Vadde Naveen

53 %55

1. %

Repaka Subhadra
Barg 8
£

2.

Madhuranthakam Narendra

Sooroso S80S

3. %

Chandra Latha

4, DO o

Question Number : 38 Question Id : 1455899576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

COP27 8 S&es0 & =8R0H.

Options : gcollegedunias



Kuwait

©36

Sharm-el-Sheikh
AP -5 -28

2. %

Doha
&5 456

Beirut

H57e5

4, %

Question Number : 39 Question Id : 1455899577 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which Harappan City recognized as UNESCO world Heritage site in 2021.

20218° O PaR) Shemo UNESCO (Fdoil 6y (Saom h8osadod.
Options :

Kalibangan

=l eleTot)

1. %

Dholavira

&ods
v

2.

:
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Mohenjo Daro

2o2ros’ o6t
3. #

Lothal
S

Question Number : 40 Question Id : 1455899578 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Every year world Press Freedom Day 1s celebrated on

58 Jodéybo (BHos HB 'i;sa’-a 6 EySo & Ber ebhdBoird.

Options :

31, May

> 3

1.9

3, April
56 3

13% May

= 13

13% April
NS 13
4. %

:
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Teaching Aptitude

SectionId: 145589318
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 41 Question Id : 1455899579 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the appropriate purpose of learning?
oFdto @ng) énéséévﬁ;}c AN &?

Options :

Modifications of behaviour

- BBGIS® 358ewen

Individual adjustment

48 Doz
2. %

Social and Political awareness

Fdred oradcdh ifdrEs

Qcollegedunias



Development of life skills

£55 ez @e‘;)‘o’)q)%
4, %

Question Number : 42 Question Id : 1455899580 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How can a teacher establish rapport with students?
SrERgint &’Jagtﬁqw &° $8%cn0tren Qe S'Jtijfﬁéags Beth?

Options :

Becoming a figure of authority

oS ‘?.';:P:‘Slgécnﬂ

Impressing students with knowledge and skills

D HOH FHeRws” domype HERE o Schob

Playing the role of a guide

S8 BEHIT P(F S0l
3.¢¥

Becoming a friend to the student

D588 YIS Ko
4. %

:
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Question Number : 43 Question Id : 1455899581 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What are the essentials for the improvement of any skill?
S) E@e&g&@% FHOBEER BT ©XIEDRD d&?
Options :

Correctness & Speed

o, OBESEe & 3%

Accuracy & speed
- PSS & fotee!

Understanding & correctness

OBTES & DYHEE

Easy methods & speed
Do égé:m & Sfsw

Question Number : 44 Question Id : 1455899582 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?
ABreTo TN FRHN8 (H0hoF S80S ofmo 267

Options :

1. % gcollegedunias



Proper utilization of time

PO ‘é&ﬁ)cﬁrﬁ SBB&0

Continuity of class work

SE188 JIN E°XrhoHeD

Innovative ideas

Erss ©DHBoes
3. %

Thought provoking
o&°ST 440 DoroboHed

4.

Question Number : 45 Question Id : 1455899583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How education is useful in application towards daily life?

Qs £DB0S° Dy 2 DForr IAGREHBLSHH?
Options :

For logical thinking

FOE G} 6D

Social values
PAFLE Denden

2. % .
collegedunia:



Problem solving

SRRy SBES0
3.¢

Moral values

88 Denden
4, %

Question Number : 46 Question Id : 1455899584 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is suggestible step for the improvement of a slow learner?

HoBTol BIPIREN @@aﬁag FEH Trdodh Srgo e ?

Options:

Remedial teaching

Daredes HES
1.¢

Re teaching

HB: 5888
2. %

Group discussion

a2 S8
3. %

Imposition

Depdrd) (FechBdeo
4. %

:
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Question Number : 47 Question Id : 1455899585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the output that we expect from the students through high percentage of
attendance
i) Pt ol S)Uisg 2006 2 A 2738 oferer BBosHd.

Options:

Mid day meals

Sogrssm s BeSso

Discipline

Edoages

Minimum levels of learning
SHREELAESES Rpowen

Homnesty

Daeonés

Question Number : 48 Question Id : 1455899586 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunias



Which 1s the strategy goes perfect for the attainment of effective learning?
HoBodR oFd8 0w Eromreod & AP0 HEEHE?

Options :

On line oriented education

3 85 Sob%% 25

Learner centered education

ws Sold $S D

2. &

Teacher centered education

SaPTReh SolB%)S D

Play way education

.. sorwe SoB%E D

Question Number : 49 Question Id : 1455899587 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Expand UPE as per article No-45 of Indian constitution?

P58 Tregoll ©fE8e0-45 (dsPdaw UPE 2380%08
Options :

Union Programme education

S5RSHS (RFIro EGEARS

1. %

:
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Upper primary education

- o5 (Howndl BRSES

University programme education

d&r@é&gé Bro DBPBRS

3. ®

Universal primary education

|, SREES (Soiob 2eyBAS

Question Number : 50 Question Id : 1455899588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Jaya Jaya Priya Bharatha Janayiri...... Divyadhatri....” Who wrote this song?

2h 20b 0D FES aB...... BT .....Adb S 256?

Options :

Dasaradhi

PI0H

1. %

Devulapalli Krishna Sastry

- RISISEE) HY TR

:
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Sree Sree

88

Aathreya

sBah
4. %

Mathematics

Section Id : 145589319
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 51 Question Id : 1455899589 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The orthogonal trajectories of the family of parabolas x? =day is
Sovdedire x? =4day Sn¥) Henono EooE) ool S s0en

Options :

1]
[
T

Qcollegedunias



Question Number : 52 Question Id : 1455899590 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The general solution of the differential equation dé-f + 4 e
X dx= dx
S8 Shgsmtn TL+ Y _ o Gt 6388 365
BN £9 o +E_€ ), PO &

Options :

SO, 14 - =
y=e€ —|—(.l & —|—f:"2

1. %
L

=& et tex

Y=5 8¢ >
2. %

V=——q e +c
3.¢

y=xe+¢ €

4. % gcollegedunias



Question Number : 53 Question Id : 1455899591 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The general solution of the differential equation (?f -2y ]fﬁ‘ +2vdv =0 is
eisbed $8smin (¥ -20")der 2w dv =0 Bog e 2

Options:

2 3
XYL =¢

1. %
k! o 7
AP =T
2. % :
¥ B 2
X-x"=cy
3. =%
¥ 5
Fax" =elx+y)
4, %

Question Number : 54 Question Id : 1455899592 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An integrating factor of the differential equation r% +y=3x% is
23

Yty =30 ebbers Shttmo Gk, b Shrses fmso

Options:

Qcollegeduma



-

X
2. %

2
X

E

Question Number : 55 Question Id : 1455899593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, : ’ d. .
The general solution of the equation (D* -D*-5D-3)y=0. (where D= d_’} 18

d 4 A 3 .
D= ©ODHAPE J088ean (DP-D?-5D-3)y=0, @o¥), APEYBE

Options:

ce ™+, + o

(¢, +¢,)e™ +c,e™™

(¢, +c,x)e™ s

:
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e +(c, +ex)e”

Question Number : 56 Question Id : 1455899594 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation p*-5p+6=0 where p= d 1S
X

v

pr waSPh wded D80 p’-5p+6=0 ¥ PEBE FEHS

Options :

(y+8x+c)y—2x+c)=0

1. %

(y—3x+ec)v+S5x+¢)=0
2. %

(y+x+0)(y+2x+¢c)=0
3. %

(y=3x+c)(y—2x+c)=0
4, &

Question Number : 57 Question Id : 1455899595 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunias



The particular integral of the differential equation (D?-3D+2)y=cos3r Where

_d .
D—EIS

D:%@méégaéo w%0i S8 (D'=3D+)y=cos
Gof) (G88 Girben
Options :

9sin 3x—7cos3x

130
1. &
Osin3x+ 7cos3x
32
2. &
—9sm3x—7cos3x
130
3.«

7sin3x—9cos3x
130

Question Number : 58 Question Id : 1455899596 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The general solution of the differential equation (x+ y)(dx—dy)=dx+dy is

o808 Ja8800 (x+y)(dx—dy)=di+dy Gn) PEYSE FES

Options :

:
gcollegedunlas
||||| s largest Student Review Platform



x+y+loglx+yl=c

1. %

.T—‘1_~+10g‘x_l1,|:{1
2. %

x—y—MQx_ﬂ:C
3. %
4V I—JJ--—]Ug|x+},‘;C

Question Number : 59 Question Id : 1455899597 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An integrating factor of the differential equation (x’y-2x)")dv—(x’ -3x*y)dy =0

is

w580 $88mo (¥'y 21" )dv—(x' -3xy)dy =0 Gy 28

o theaga

Options :

1

Xy

3.¥
gcollegedunias



e

x°y*

Xy

Question Number : 60 Question Id : 1455899598 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An integrating factor of the differential equation (1+xy)ydx+(1-xy)xdy =0 is

©%808 SE8mo (1+:xy)ydr +(1-x)xdy =0 B¥) 2.8 Srdel o

Options :

1

Question Number : 61 Question Id : 1455899599 Display Question Number : Yes

Question
% collegedunias
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
N

The solution of the differential equation y Fy=0 satisfying y(0)=1 and 1{ % |=2
15
7(0)=1 %8650 v‘ 2 _2 o &3 263 oddud dd8mo ¥ +y=0 S¥), PES

Options :

y=2cosx+sinx

1. %

=28 X—COS X
2. %

y=cosx—2sinx
3. %

y=cosx+2smx
4.

Question Number : 62 Question Id : 1455899600 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The linear differential equation with constant coefficients obtained by converting

) 2
Pt +Ty=" s
X

Oyt 4 +7_1-':% S¥8mind Srdn S0 & (30b TS 88 ez

3ch 0igsm HnLdmdnd Srodtedn.
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Options :

GHT

—+7y=2¢
Lo dt :

d%3 ;

d'e*3 il e
2. %

d*y

g +2y="T¢€
3. %

Ly w

e r=e
4. %

Question Number : 63 Question Id : 1455899601 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following is false?

(D stands ﬁ}ri)

& (308 TIS° D& wddEw D =

Options :

|
f(D)

dx

(e7V)

1
~ f(D+a)

d
dx

V. V=f(x)

m 855%08
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1 1 5
2 J=———(&™x7)

— e
F(D) f(D+a)

1 -1
_1]‘1‘! - f':Dj TJ‘J‘!
F(D) [ |
%
. 1 : 3
——sm(ax+b) = —sm(av+b), f(—a")=0
7= B T S

Question Number : 64 Question Id : 1455899602 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. Among the following, the differential equation that is not a Bernoulli’s equation 1s

& 8D ad TS, BEYD S8 TRE o800 20E8min

Options :

dvy 3
X—+yv=xy¥
dx

[

1. %

. t_r
g4y o X

dx i
+ xtan ¥ =X

sec’y
dv

4.+

:
gcollegedunlas
||||| s largest Student Review Platform



: dy .
(x e” 4 Eyjj}; +ye” =0

Question Number : 65 Question Id : 1455899603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The differential equation (,11‘3»3“-‘:2 +6x)dx + (2xv &’ —41)dvy =0 is
(_1-‘16'”'; +6x)dx + (2xy e —41)dr =0 03 oded IEsnsdn

Options :

linear and homogeneous

9o Hbckn S $pEdend

homogeneous and exact

QDsaoee s08akn dﬂ:mﬁg odtod HoEBeadn

2. %

lli}ll-]lDlllﬂg'EllEDllS and non exact

- ©d0HreH So8cs» dﬁmﬂgsﬁw 50 odded Jo8nn

l]Dll-]lOIllOgEIlEDllS and exact

©ddrhah Ho8cso CDTPY ©REN 2 oEBeadn

4. &

Question Number : 66 Question Id : 1455899604 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

:
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y=cx—c" is the general solution of the differential equation

FEYBE FES V=X —c’ BOAS oddosd SsBeko

Options :
Vv =c
1. %
y =0
2. %

N —xp+y=0
o ° ¥,
3. ¥

(¥) +xy'+y=0

Question Number : 67 Question Id : 1455899605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i i : . I’y dy :
The general solution of the differential equation x {;—:—+~ﬂ;—1+1: 015
ax X

-

ossos B8t + LYY 120 G EyBE PSS

axt dx

Options :
glogr—x¥e,

1.4

¢ logx+x+c,
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ex—logx+c;

cxlogx+c,

Question Number : 68 Question Id : 1455899606 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
&y b .
A particular integral 5 +4x ? 2y=e" 18
X ax

el B o ottt Sittmin G¥) ad (HEE SErsed

{ /

Options :

xZe*

e

xXe

X 2e*

Question Number : 69 Question Id : 1455899607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0 Qcollegedunla



The general solution of the differential equation (p x—y)(py+x)=a’p. where

p= % 18
dx

05808 S&088mdn (pr—1)(pr+r)=d'p p j_‘ B @S S
' A
Options :

y=cx* —a‘clc+1)

1. %
2l € A
V- =cx"—a- —‘
c+1
2. ¥
vy =ex—a’(c+1)
3. %
.1"1 =ex? +a’c(e+1)
4. %

Question Number : 70 Question Id : 1455899608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. , - : . X P
The general solution of the differential equation d_ 9 Nawn = 18
oy ¥ %

ossud s8tmte LoD Y Qug EyeE 3G

dc dv vy «x
Options :

1. %

:
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x* +y* =c . ¢ is arbitrary constant

x*+y?=c . co8 cirE)E Hoed

xy* = ¢, ¢ is arbitrary constant

=0 ;08 cfunde){’,)aé %ﬁﬁﬂ%

2. %

x* —y* =c¢, ¢ is arbitrary constant

2 2

X -y =c,cas dr g Jvoed
30 ¥ 7 HYPS 3

x*+xy+y*=c. cis arbitrary constant

+raoy+y?i=c.ca¥ SSreying RdTe3
4. % @

Question Number : 71 Question Id : 1455899609 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The direction cosines of the line joining the points (1,2,-3) and (2,-3,1) are

(1,2,-3) &8cn (2.-3,]) Do 502 Ty ¥ BEFRH

Options:
1,-5,4
1. %
3.=1,2
2. ®
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i =5 4

2 Jz e

3.¥

3 =1 2

NTANTIN T

4.,

Question Number : 72 Question Id : 1455899610 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the plane passing through the origin and containing the lines
whose direction ratios are proportional to ~1,2,2 and 2,3,-1 1

Sredotdi) o ke, 88 Mdod -1,2,288dm 2,31

o vdardos® Ko Jpod SRR dodn S 086edn

Options :

Bx+3y+7z=0

1. %

3x—8y+7Tz=0
2. %

Tx—8y+3z=0
3. %

Bx—=3y+7z=0
4.+

:
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Question Number : 73 Question Id : 1455899611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angle between the planes 2x—y+z=1 and x+ y+2z=3 is

Sodven 2x—y+z=108c%0 x+y+2z=3 o H§s Ho S°es0

Options :
T
2
1. %
T
3
2. v
T
4
3. %
T
4, % 6

Question Number : 74 Question Id : 1455899612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The centre of the circle x> +3°+2° =9 2x+3v+22=9 is

Ho ¥ +37+2°=9,2x+3y+2:=9 &%) Soo
Options :

7 18

4 4
1 1) ,
1. % collegedunias
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\17°34°17
(4, 3, 1)

(1, 3, 4)

Question Number : 75 Question Id : 1455899613 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The condition for the plane [x+my+nz = p to touch the sphere x*+y* +2° =a’, i

Sodn Ir+my+nz=p. B8 ¥+y+7 =% }60})-30?3065)& NAD0

Options :

p(F+mt+m)=a’
1. %

< SO N, S
[F+m -+ =a —p

272 3 2
a- (- +nr+n)=
v ( Y=upp

1} gl =B adied
I“+nm +n =ap
4. %
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Question Number : 76 Question Id : 1455899614 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If ([.m.n) and ([,,m,,n)are direction cosines of two lines and @ is the angle

between them, then /. [, +my.m,+n,.1, =

(h.m,1)%86% (L, m,.1,)e0 Boid Tge @) 88 T bk 0

>6 Jggie Fearn ©OWS, QPR .1, +my.my+n.m, =

Options :

cos
1. %

sin &

tané&

I

Question Number : 77 Question Id : 1455899615 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If a plane meets the coordinate axes XY.Z respectively at A.B.C such that the

centroid of the triangle ABC is the point (P.Q.R), then the equation of the plane is

MBC @¥) Solmerisdn Dot (P.QR) @5:5&3&;%@ 2.8 S0in g

ogren X.Y.Z ok %dm ABCo s‘)g ém"@oéﬁ, O © do So08dedn
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Options :

Px+Qy+Rz=3

Question Number : 78 Question Id : 1455899616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the x-coordinate of a point P on the line joining the potnts (2.2.1) and (5.1.-2) is

4, then 1ts y-coordinate and z-ordinates are respectively.

(22.1) %0805 (5.1.-2) oo 80 Oy Ko o Do) P &g

X-A8rE 4 vond, ©pd T y-I8rE Hocky z- Arslne SESm

Options :
4
:._].
!
1.4
—4
Ty ]-
2.% ~

:
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U | 4=
I
o

L.LJ|

w|
W |

Question Number : 79 Question Id : 1455899617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The mage of the point (3.5.7) with respect to the plane 2x+ y+z=6 13

2x+y+z=0 Sodn dpg Doy (3.5.7) 0¥ (H8Doain

Options :

2.1 1)

1. %

y 13
(5, 6, —8)
.

(1, 4, 6)
4, %

Question Number : 80 Question Id : 1455899618 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Qcollegedunias

Time:0



The equation of the line passing through the point (-6, 4, I)and perpendicular to
the plane 3x-2y+5z+8=0is

(6. 4. 1) Dos) thowe e p8a%w 3x—2y+57+8=0

SudndS wonorP 403 Oy Goo) B
Options :

xX—6_ y-—-4 z+1

3 =2 5

-3 2 5
2. %

k6 y-4 z-1
Lo 3 3 5

x—6_ y+4 z+6

5 2 3
4. %

Question Number : 81 Question Id : 1455899619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The centre of the sphere (x+a)(x—a)+(v+D)(v-D)+(z+c)(z—c)=01is

B¥n (x+a)(x—a)+(r+b)(y—b)+(z+c)(z—c)=0 Gw¥) SoEdw
Options :

(a. b. ¢)

1. % .
gcollegedunlas



2. %
(0, 0. 0)
3. v
(@@ B )
L™ 2
4, %

Question Number : 82 Question Id : 1455899620 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the cone with vertex at the origin and whose base curve is

X4y =4, 2=2
refodsy &8 'QQIB’JJJ 8% S0k #rdgdn B '+ =4.2=2

k) BORS S0 Dodseaikn
Options :

X4 yr=gt
1.¢
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(x—2)*+y*+z2-4=0

Question Number : 83 Question Id : 1455899621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the sphere through the circle x*+3*=a* z=0 and the point
(%.01.2,)

g x1+y? =0, =050 Hoby (X, 1,2)e

Ko e f¥n @é&ﬁi‘oéiﬁa@a’m
Options:
(P4t et =a @ =) 5" =D
1.9
) (L2225 @ —n? =)z =
.

Question Number : 84 Question Id : 1455899622 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
% collegedunia:
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Time: 0
The length of the tangent drawn from the point (3,1-1) to the sphere

Xy 422304 5p+7=0 is

B X'+ 427 -3x+5y+7=0 % B (3, 1,-1) ool Aobads 5)gdy

It

Options :

Jia

1. %

Question Number : 85 Question Id : 1455899623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the cone ax’+ Zbyl +3ct +2 fiz+2gzx+2hy=0 has three mutually
perpendicular generators, then a+2b+3c =
$05% axt+2by* +3cz% +2 i+ 2gzr+ 2y = 0ot
BB wow =RE Spoi 598 o, opth a+2b+3c=
Options :

:
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Question Number : 86 Question Id : 1455899624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If G is a group of order 48, then G cannot have a sub group of order

48 3888 m o 2.8 3Hrro G vand, ol &3d%rdo @o¥) SBRS

G 50A &odBR8.
Options :

16

:
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Question Number : 87 Question Id : 1455899625 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The order of the element 9 in the group (Z;,. «,). where 7;, =7, - } is

}@mg@é} (T, ) S0’ Surebdn Qo?méa S588

f.lll

Options :

3
1.¢

Question Number : 88 Question Id : 1455899626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The Inverse of the element 11 in the group (ffdl?, *,), Where Z, =7, —{0}, i
Ty =Ty~ |0} oSyt Ssoriro (Zgqs 4y) 6 Sre¥in 11 @8 D6%00

Options :

Qcollegeduma



3.¢

Question Number : 89 Question Id : 1455899627 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let [x] denote the greatest integer function. If a function £ from the group (R,+)to
the group (Z,+) is defined by f(x)=[x] for all xR, then
183 rpo¥ FdkeR) [1] &rRioltod, o) reRed f(x)=[x]m
3o (R,+) &08 Sdweido (Z,+) 8 o8 ($dho & K}dsz';)é, O
Options :
fis a group homomorphism and ker f =[0,1]
- f a8 [ Jshdrns obako ker f=[0,1]
fis a group homomorphism and ker /' =[—1,0]

28 B H08rHE $o8dkn ker £ =[-1,0]
2. %

:
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f1s not a group homomorphism

[ a8 St JDOFIS ot

3.¢

f1s an onto group homomorphism

[ a8 ﬁo[ﬁ‘g DR QoBIeHE
4. %

Question Number : 90 Question Id : 1455899628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of units in the ring (7,,,+,,.%,,) 15
(Zgotiyr) S00%06° ey Sogg

Options :

10
1.

Question Number : 91 Question Id : 1455899629 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0 Qcollegedunias



If the number of elements of a set A is 5 then the number of binary operations that

can be defined on A is
28 308 A Gn¥) drodine Sogs 5 ©aa, oph A P Ao o

dﬁwﬁ& 208cde :ﬁoa:zg

Options :

25

1. %

Question Number : 92 Question Id : 1455899630 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the group (7., +,). the inverse of the element (14- «,11) is

(Zisgytys) 308008°, (14 +,11) Swrebsn &Bn¥) d&°o

Options:

:
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Question Number : 93 Question Id : 1455899631 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The inverse of the permutation

S={a.b.c.d.e} 18

S={a.b.c.d.¢} 5287 DxdosadS Brtds { ‘

Options :

m o

e
3.¢

4]

L‘!

C

o

fa b cde

P GJ defined on the set

:
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Question Number : 94 Question Id : 1455899632 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A cyclic group among the following is

© &S aDS I o¥ SBaHh SrSosn

Options :
ZI? X ZR

}Kld X ;':ji'ﬂ

7. X7Z,

2

Question Number : 95 Question Id : 1455899633 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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If 77 = 1., -{0}, then the solution of the equation X ¢ 5=6 in the group (ﬁ? -?]
IS

7= 17,~{0} oon8, @39t (L1, +,) ShariPod® X o, 5=6 508800
%) S

Options :

6

e

2. ¥

Question Number : 96 Question Id : 1455899634 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the permutation group (5,,0), (241683)0(537241)=
PFroee Sedeo (S,,0) € (241683)0(537241)=

Options :

(37456)0(182)

1. %

gcollegedunlas
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(152)0(37468)

2. %

(125 0(37648)
3. %

35268 0(147)

Question Number : 97 Question Id : 1455899635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of elements in the subgroup <6 > in the group (Z,, +,) is
(Zy, +y1) SBP08® 6530 <6> 65 Swrome Sogg

Options :

21

Question Number : 98 Question Id : 1455899636 Display Question Number : Yem%g&ﬂmias

st Student Review Platform



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the group (Z,+),1f (12 Z)n(18Z)=nZ then n =
(Z.+) SePoS® (12 2)N(182) = nZ ©ons @Iped n =

Options :

6

Question Number : 99 Question Id : 1455899637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegeduma



Let 7 be the group of all integers under addition and A= { L, mz} be the group of
all cube roots of 1 under multiplication. Define a homomorphism f:7— 4 such
that f(n)=@" forall n € 7. Then the kemnel f =

RodeNo (ol o) ‘!.ﬁ?c;;oéaﬂmaés E‘ﬁﬁn]é SRrarRn 7 208d% dedo
8o 280 G Hhrers B Shro A={Loo'|ekBol. o)
nezed f(n)=0"edgwm 17428 S08r58%

Ndodold, wpd [ @) 36 (sod2i) =

Options :

Question Number : 100 Question Id : 1455899638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of generators of a cyclic group of order 45 is

$8K58 45 e KOAS ¥ S 8ch Sdredro Bo¥) 238 oreTe Jogyg

Options :

:
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14

24

2.¥

18

12

Question Number : 101 Question Id : 1455899639 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the group (S;.0) . an even permutation among the following is

(S7.0) S&oreod®, BHSS B (Prores” a8 $8 (Frdo

Options:
(1 2
(3 3
1. %
(1 2
\7 3
2. ¥
1 2
S5 4
3. %

4l

g

e

s

6

= Lh

_

6
6

-3

:
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Question Number : 102 Question Id : 1455899640 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If R is a Boolean ring as well as an integral domain, then the number of elements

mRis

R ¥ wddhs Heoddin Hodkn o8 dpmod (DE¥dr w8, R &

SroTe Jogy

Options :

-2

Ll

Infinite

®Ho850

4, %

Question Number : 103 Question Id : 1455899641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimn@lwﬁgg@mag
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Time: 0
.On the set of natural numbers N, the one that is not a binary operation among the
following is

e ‘.609,:50 oené N F:} & BIHS 6 o8 dﬁaarig LT s%%&
Options:
mEn = m+n-1 forallm.neN

mEn = m+n-1 o nm neN o

1. %

_ 4 .. - iy
mEn = m+n--4 forallm.nenN
m*n = m*+n*-4 ©Y M NEN 0D

2. ¥ '
m*=n = m4+n+8 forallm. nenN
mEn = m+n+8 ® m neN o
3.
m*n = mn+m-n forallm nenN
m*n = mn+m-n ©P mneN o
4, w

Question Number : 104 Question Id : 1455899642 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

:
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(12345 6) (1 2345 6) ;
E and g=| are two permufations
32 1% 4% 14 51632

I f

defined on the set §={1,2,3,4,5,6/.then g™ 0 /' =

12345 8 (12345 6) .
| &oa g=| 7 &0, S8 $=(12.3.45.6)
3215 46 k5163 2 ‘

=

2 Aosals Both (N8, sipd ¢ o f7=

Options :
1 2 3 435 6)
5 6 3 2 1 4
1.¢

5 4 6 3
2. ®
M1 2 3348 5
26 3 5 1 4]
3. %
(T 23 4 5 8)
I 32 4 6 5)
4, %

Question Number : 105 Question Id : 1455899643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

:
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Among the following. the number that cannot be the characteristic of a field is

& (806 TS’ o8 FSdn @Y erEBsin TEred Sogy
Options :

31

Question Number : 106 Question Id : 1455899644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following, the one that is an integral domain but not a field is

& (808 " 0.8 e el $B¥o oy, 5 o8 585w TR0

Options :

The set of all real numbers

O TP Eﬁc&)éﬂ PO
1. %

:
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The set of all rational numbers

O ©EEHA% Qogge D&
2. %

The set of all integers

wh it
- @KJ& SJPTROS°L oD Ed

The set of all even integers

O 5&‘!’@!:;05“& [N
4, %

Question Number : 107 Question Id : 1455899645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of non zero, zero divisors of the ring (Z,,B;,®,) is

BB (2, Dy, Q) S8 S8 Frdy rame Sogy

Options :

0

1. %

(R

3.¥

:
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Question Number : 108 Question Id : 1455899646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the ring (Zs5,+5,%5)> (7 %5 9) +5 8 o5 1) =

(Zyss+5,%15) B00008° (7 o, 9) +; (8 o 11)=

Options:

| |

Question Number : 109 Question Id : 1455899647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the ring (Z,+.), an ideal which is prime but not maximal is

Sodhdn (Z,+5) 6 o (Hp08 ebhin ©8%HS) eHsr,

ﬁ&@a’m e @55‘3&: =8

Options :

1. % Qcollegedunias



47,

Question Number : 110 Question Id : 1455899648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let f: (Z+2)—>(Zg,+g%)be the ring homomorphism defined by f(n)=r

where 0<r<7 and r is the remainder when » is divided by &, Then the one that is
not a sub ring of kernel f among the following is

0<r<7 HBa 1 8T FRoDSHH ST) ko r oy, f(n)=r
P AD0DES [ (Zy+3) > (Lg,t,0) R0 S0 Jbrds
©8%8, ©3pd [Bod FIE @oé“{%;’m f@n8) o8

adudin S8,
Options :

47,
1.¢

2. % Qcollegeduma



87,

167

Question Number : 111 Question Id : 1455899649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The limit of the sequence | (=" i 1[ is

=]

oHEo |1 H}, o) ©56

s

Options :

0

oo

:
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Question Number : 112 Question Id : 1455899650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Among the following sequences, the unbounded sequence is

Bod o Esres, é&mgc R oo
Options :

l .I
1=/ nz1
LR

Question Number : 113 Question Id : 1455899651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following is not true?
& (308 TIE° 2B Do H?

Options :

1. % .
% collegedunias



Every convergent sequence is bounded.
(8 ©§Iedy edhEn Seagin ©Hos.

Every monotonic sequence bounded above is convergent.

085 eaigc &g (D8 250 ©DEH0 ©fiBmo BothHos.

2. #

Every bounded sequence is convergent.

(38 $02dHEy «dEHin ©)idno Josod.
v @

3.

Every Cauchy sequence is bounded.

L, (58 Th obghin Soagihson.
. W

Question Number : 114 Question Id : 1455899652 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following series, the divergent series is

& (808 (Rewed® wdddmo 308 (FD

Options :

:
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3 ¢ n=1 1
5
5

n=1 1

Question Number : 115 Question Id : 1455899653 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:

The function f(x)=

f(x)
Options :

L

2
1. %

b

3
2. ®

T
3. #

T

4
4.

0

~ 1+sin2x

sin 2x

l+sm2x - ; }
= —15 d]SCDlltllﬂlOlIS atx =

1-s5m2x

(Bhaho ©dYPHo oy x Jei

:
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Question Number : 116 Question Id : 1455899654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The point ¢ of the Lagrange’s mean value theorem for the function f(x)=logx in

(Le) 13

(Le) & f(x)=logx (SFchsnd® Bmos DEH Nensd ?oqéoééa:

@oog) Aot ¢

Options :

e+1

| ]

Question Number : 117 Question Id : 1455899655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

B3

I 1+ x?

Options :

Qcollegedunias



AL

1. %

Wy

1

bt
[

I

| =

Question Number : 118 Question Id : 1455899656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

: n I ! .
The sequence | —/n> L s
oL } _

woEo |- /n>1l
L+l J

Options :

bounded below by zero and not bounded above

BoH)B 8BS ado Hocn AP no H
1. % % ®

:
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bounded above by % and not bounded below

o

B DD mgs'm DOaA%w BIHD més"m il

both bounded above and bounded below

RPD B30 08w BN hsw Erne
3. = 4]

not bounded above and not bounded below

5083 magéw 5o 0805 HIHE a:gai:u =il
4. %

Question Number : 119 Question Id : 1455899657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The function f:[-1,1]— & defined by f(x)=|x| for xe[-1,1]is
xe[-L1]8, f(x)=|x|n° &DoD28S f:[-1L1] >R (BRocso
Options :

continuous for all x € {x -0}

_
. o) xe{kR-0}8 @&}%é‘;‘m

differentiable at every x#0
(38 x#0 £ wd¥odahin

2. ¢

3. % gcollegedunias



differentiable only at x=0
x=0 38 L@ oddedchdn

discontinuous on [-1,1]

[-1,1] @ smaé&;saa
4. %

Question Number : 120 Question Id : 1455899658 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

82

The series e

=
Il

L;éf’% an
n=|
Options :

converges for all x in &

R &°Q o) x 0d ©Pi8mo Iohdod

1. %

converges for all [x <1

<1 IS
- o) 1<l 0% ofIbwo Jotheod

diverges for all x in R

R &°9 O X o ©NI8m0 BoHénod
3. #

:
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Converges to e¢* for any x>0

2 x>0 330 ' 8 wfivno Bothéhod

Question Number : 121 Question Id : 1455899659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let fbe a bounded function defined on [«,b]. Then for any two partitions £ and
P, of [a,b]

(6] f o8 SeatRs Babcho 808, wdpd [a.b] I3 Bod

PeNsnen P Hodh P od

Options :

LB, YR )

L(R.f)=L(A. /)

U(R. )< U(R. /)

L(A.)zU(R, f)

Question Number : 122 Question Id : 1455899660 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0 .
% collegedunias



" 1.if x is rational
Define fon [0,1] by f (x):J R

| L. #f x is irrational
Then which one of the following 1s true?

1, ¥ oE8B0HDE

[0.1] f &, 'ﬂx):{—l. X E5EaHDd

™ sDoBod dnd, & (od ST 28 S&Ew?

Options:

f1s bounded but not Riemann integrable

v F é&méé‘u, wond 858 Jdrdedcho &

/f1s unbounded and not Riemann integrable

f é&méﬁo 8y $08c%0 8508 Jdrdedcho sk
2. %

f1s bounded and Riemann integrable

. é&mgsﬁm 28ckn 658 SdrEodddho

3. %

f1s neither bounded nor Riemann integrable

T éﬁmcgé:n =8 Ho8ckn 658 Jdrodcdho s

4. %

Question Number : 123 Question Id : 1455899661 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
I+ 16" -4 =
x—=} X

:
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Options :

Question Number : 124 Question Id : 1455899662 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let [x] denote the greatest integer function. Then the points of discontinuity of the

function f(x)=[x], xeR are
[x]A6Y ropos (P SrddosHs od. op f(x)=[x], xeR
Babado G e Dothiden
Options :
zero and one only

0% oo B8 SrED
1. %

2.

:
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the set of integers

?'.;?n;;csﬂea Db

even integers only

S385rTrosen L83

all real numbers which are not integers.

?’.;?tifgcémmsﬂﬁ) O T°IX Jogye

Question Number : 125 Question Id : 1455899663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

oo

The series converges to >°

n=1

n(n+1)

i# (3B ©dd8po Bodd

S n(n+l)

Options :

1.¢

:
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Question Number : 126 Question Id : 1455899664 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

|
If fisdefinedon R by f(x)=11-&""

ifx # (

kit x =0

# x = () ®ond

ii‘%_;'.i & f(x)=11-&”
0. ¥ = 0 ®onsd

™ K)d‘su")é, P
Options :

continuous for all xel®

o xR o @S)ﬂtgé&a’m
1.4

discontinuous at x=0 only

¥=0 38 Sr(ED YKo

2. #

continuous at x=0

. x=0 ‘n’ag @&ﬁg@m

discontinuous for all x £ 0

o) x#0 ) -‘:‘.}{.}Jé&m
4. %

, then f is

:
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Question Number : 127 Question Id : 1455899665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Af f and g are differentiable functions defined on [a,b] and if f'(x)=g" (x) for all

xela,b], then [-g is
f %8 g [0h] P Whodads s¥bendd Fhokine Hea oY)

ve[ab]l o f(x)=g'(x) oows, o [-¢
Options:

a 7zero function

28 Erdy (B

a constant function

o8 B8 (Hhchdm
@

a decreasing function

2.8 585 (HDaHhdn

an increasing function

2.8 @b6%Sre (Pbahdn

Question Number : 128 Question Id : 1455899666 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimwnstiruc ion
% collegedunias

||||| 's largest Student Review Platform



Time:0

If 11111 B2 _4 thenp=
x—0 tan 3x

s BI PX
I m P
0 tan 3x

= 4. ®ONE, AP p=

Options :

6

12
3.¥

15

Question Number : 129 Question Id : 1455899667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let [:[a,b]>R and g:[a,b] >R be defined by f (x}:l2 and g(x) :i, for all
X X
xefa,b), 0<a<b. Then the value of ¢ in Cauchy’s mean value theorem is

fla.p]>R&Bn g:[ab]->Red o) xefa,b],0b HOXN g(x)=-

X

O<a<bm Ardodod. ©pid £ Seosh Deosd bcgoéoés C Q¥ deod

Options :

1. % Qcollegeduma



2ab

a+b
2.

=
+
o

Question Number : 130 Question Id : 1455899668 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

-

[1
Let f:R —R bedefined by f(x)=1x
10, if x=0

it x#£0
i x . Then

1
fROR S, f(x)j‘? .
0, x=0 oo

1#0 oons

™ JgRotol ©@Ipid
Options :

f 1is continuous at x = 0

x=0 38 f@a%é&c

1. %

:
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[ 1s discontinuous at all irrationals

oY E8BH Sogge $8 f DKo
2. %

fof 1s continuous only atx = 0
x =058 SrED fof @Q@Jé&c

3. ®

fof is continuous on R

R fof SRS

4.+

Question Number : 131 Question Id : 1455899669 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If 'V is a finite dimensional vector space over the field F of dimension ‘n’, then
0 S88rmomr KOAS ZFoF D V a8 50008 $6drn SeTodoedo
B3, P

Options :

A subset of V with less than or equal to n elements 1s linearly independent.

n 308 éé:&o“'s B n 8 J&mdo @6535 Srozed o V cﬁné& 2.8

63308 e Sedo(ddn

1. %

A subset of V with more than n elements is linearly dependent.

0 %08 J&¥ Srowed fo V @nd) o e555mrin J8irs ©|38k
2. ¢

:
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Any linearly dependent subset of V should contain ‘0’

, V Go¥) 2 2E5r8 o938 $D008 wona 0’ $OA sowd.
. ®

Any subset of V containing exactly n elements of V other than zero, is a basis
of V.
:6:&5& (0) o3P §%éon° n Sroze 088 V cﬁné& o 6358

o, V @0%) o8 oprddn oPH&od.

Question Number : 132 Question Id : 1455899670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The dimension of the vector space V of all m x n matrices of real numbers over
the field of real numbers 1s

5% Sogpo FE0D o) mx1 ErBSe B¥) ShTosTEo V Tw¥)

28Pe0

Options :

m+n

:
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m+n+mn

Question Number : 133 Question Id : 1455899671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If T:R*—>R* linear transformation defined by T'(x,y,z)=(x,x+y) for all
(x,y,z)eR’, then the dimension of the kernel of T 1s

T(x,3.2)=(x.x+y) ¥ (x..2) R’ m® Q603088 TR’ - R’e8 Qird

Srarosdemo ©and wpd T Go¥) 306 Hodruo
Options :

0

3. #®

Lad

Question Number : 134 Question Id : 1455899672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunlas



If S is a linear subspace of the vector space V over the field F, then the false

statement among the following is

S F 2 d6Tostdo V. Gn¥) a8 D8 sdrodtrdo S wand, oy
& (808 TG ©iddy (Ho
Options :

S cC L(S)
(S)cS
L(L(S)=L(S)

ScL(S)
4.¢v 7

Question Number : 135 Question Id : 1455899673 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The set {(1,1,0),(1,0,1),(0,1,1)} of vectors in the vector space R*(R),
Sazosoedo RA(R) &8, {(1,1,0),(1,0,1),(0,1,1)} 5850 S8
Options :
1s a linearly independent set but not a basis

2.8 EHr8 S¥od S8, vond ©d ¥ STdin %

1. %

2. gcollegedunias



is a basis

o 2.8 Sprdsw

is a linearly dependent set

o8 DESrS GBS S8

3. %

does not span the space R’(IR)

R (R) wodoe# st D8 Db
4. %

Question Number : 136 Question Id : 1455899674 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The dimension of the vector space & over the field Q is

é[;ésﬁw 0 2 dbzodorgo & cﬁné& DS rRn

Options :

finite

H820SH86
3. %

4.+

:
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mfinite

©3082I08

Question Number : 137 Question Id : 1455899675 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If W, and W, are two vector subspaces of a vector space V such that dim/¥; =4,
dim#¥, =7 and dim(; n1¥,) =2, then dim(W¥; + ;)=

diml¥, =4, diml¥,=7 &eakw dim(W,nI,)=2 edpear 7 Heckn I,
@ 2.8 JBFodTo V En¥) Bolh &3 5&@05@%‘5}:@3, ©ped

dim(W, + W) =

Options :

11

13

Question Number : 138 Question Id : 1455899676 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minim ®®lasitegedioria:
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Time:0

If T:R’ >R’ is a linear transformation such that 7(1,0,0)=(4.1.0), T(0.1.0)=(3.2.1),
7(0,0.1) = (1.3,5); then for any (x,y,2)eR’, T(x,y,2) =

T(L0.0)=(410)., T@O.L0)=@3.21), T(0.0,1)=(L3.5); @o'ﬁzéeaegaﬂm T'R'->R
28 NE5r8 Graroddmo vand, O @ (x,y,2) ¥, B, T(x,3,2)=

Options :

(AxA-3y+2, $Hy+£3z £425452)

(Adx+3y+3, x+2y+3z, y+52)

2.

Ux+y+2z, x+y+2z, x+5z
3. %

(x+3y+z, dc+2y+3z, xty+52)
4, %
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Let T:R* - R* be a linear transformation defined by T(x,y)=(2x+3y,x~y) for all
(x,y)eR*. Then the matrix of the linear transformation T with respect to the
standard basis B={(1,0),(0,1} of R* 1s

O (x,))eR*8 T(x,y)=(2x+3y,x-y)® Wydodals T & o8 AEird
Srarosiin ©58 08, wpth R'G¥) @rdrdd egrdsn B={(1,0),(0,1}
cﬁe)ig, W858 Erarodimin T Qw¥) Sr@8

Options :

2

1. %
2 3
i3
2. ¢ 5
3 2]
-1 2
3. ®
3 -1
1 2
4, %
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Let V be a vector space of dimension # over field F and let L(¥,V) denote the

vector space of all linear operators from V to V. Then dim(L(V,V))=e

S0 T2 a8 n S0drm S0Foscdod V ed Hodn V&od V8

o o) D5 30880 Shmodoinl L(7,7) &rdined o558, OPE

dim(Z(V,V))=
Options :

2n

Fay

1. %

n
2.

"

1
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Time: 0

The rank of the linear transformation 7:R* —» R’ defined by 1(x,y,z.1)=(x+z, y+1)

for all (x,y,z,t)eR* is

©f) (¥,,2.1)eR‘O® T(x,1,2,1)=(x+z2 y+1) ™ WgDoH2aN
D85r8 Brarodtmdn T:R' - R Gn¥) 58

Options : .
P collegedunia:
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5 0 7 4]
The rank of the matrix 4= 3 1 -2 -1 i 18
1 2 3 2]
[-5 0 7 4
Sr@8 4=|3 1 -2 -1 Gwo¥) 5°8
|1 2 3 2
Options :
1
1. =
5,
2.9
3

3. % .
collegedunia:
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If A isanon singular matrix over [, then for any matrix B, (47B4)’ =
R Aol odprdn $m(88 vond, skpd a3 Sr@$ B8 (4'B4) =

Options :
A°BA’°
AQ Bgﬁkd}

A'BA
v

ABA
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Aisa 10x 12 matrix over the field K . If every submatrix of A with order 7x 7 is
singular, then

S R Aaf 10x 128848 Sm(@d. 7x7 88688 do A Go¥) (38

655088 orgrln rBE vwd, ek
Options :

rank of A=7
A Gn%) 58 =7

1. %

rank of A =7
A &%) 58 >7

2. %

rank of A <7
A &%) 5°8 <7

3. ¢

rank of A =10
A Gw¥) 58 =10
4. %
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Let T:R*>R* be defined by T(x,y)=(x+2y, 3x+2y) for (x,y)eR’ and
B={(1.0),(0.1)} be the standard basis of &*(R). Then the characteristic roots of the
matrix [T, are

(v.y)€R’8 TR R T(x,y)=(x+2y, 3x+2y)m ool £bdm
B={(L0).0.D}R RY(R)Gw¥) (Frdl oo sbFold. ©dpd [7];

Sr(8% G¥) rERS drodnm

Options :
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E & .5
The characteristic equation of the matrix A={0 2 6]is

31 4
10 5

SF@% A=|0 2 6|@ng) EBE B8
13 1 <%

Options :

A+TA2-T74-28=0

1. %

A +TAP+TA+28=0

A—TAF-TA+28=0
3.¢

A —TA*+71.-28=0
4. %
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In an mner product space V(F) for X, y€V(F) the parallelogram law 1s
2.8 woddy wodtr¥o V/(F) &, X.yel(F)vd Sdrods ﬁéad%)ﬁméoiaﬁn

Options :

X+ | e .1'—_1*||'} = x| : +||L1r||2
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t+ 97 =[x = = x : — ¥ :
2. ®
3 2 3 2)
e+ 3+ =" =2(l o)
3.¢
e+ =1 =2(A" 1)
4. %
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In an inner product space V(F), for any two vectors a and f . if || =5 and |6]=8,
then |<a, /7 > cannot be equal fo

o8 woddy wodrdo V() &, JF 0w o DO P 0B, [qf =550

DD WAEH0 Trod

|]=3 ©O, o |<a.f>
Options :

45
1.4
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Caley-Hamilton theorem states that

SO-55eS Jrpodino (HNd0 6
Options :

Every square matrix has a characteristic equation.

58 SHBH Sr(BE o LAY S8R SO sotnod.

1. %

Every square matrix has an inverse

B8 SHBR (@ o8 SErY) $Oh sotnod.
2. ®

Every square matrix satisfies its characteristic equation

|, (58 053 Sr@8, o0 s $hosderR) 8 Skkob.

Every non-singular matrix satisfies its characteristic equation

58 b Lr(@8, TR cEBY SEdrR) )3 Snos.
4. %
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Let V be an inner product space over & and x,y €V be such that the vectors x+

and x—y are orthogonal. If |x|=35, then [y|=

2 Vas sodly vodoro &bk Sb¥en X+ yhdain x-yeordso
oGyt X,y eb8od. [1|=5 oowd, ok [i]-

Options :

1.4
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